

Probability Theory 2

I. Midterm test solutions

MT.1 Let us denote for $k = 1, 2, \dots, N$

$$\xi_k = \mathbb{1} [\text{the } k\text{th man survived}].$$

Then the total men who survived is

$$S_N = \sum_{k=1}^N \xi_k.$$

Moreover

$$\mathbb{P}(\xi_k = 1) = \mathbb{P}(\text{the } k\text{th man survived}) = \frac{\binom{2N-1}{N-1}}{\binom{2N}{N}} = \frac{1}{2}.$$

Thus

$$\mathbb{E}(\xi_k) = \frac{1}{2} \quad \text{and} \quad \mathbb{D}^2(\xi_k) = \frac{1}{4}.$$

Moreover for any $k \neq l$

$$\mathbb{E}(\xi_k \xi_l) = \mathbb{P}(\text{the } k\text{th and } l\text{th man survived}) = \frac{\binom{2N-2}{N-2}}{\binom{2N}{N}} = \frac{N-1}{4N-2} < \frac{1}{4}.$$

Thus

$$\mathbf{Cov}(\xi_k, \xi_l) = \mathbb{E}(\xi_k \xi_l) - \mathbb{E}(\xi_k) \mathbb{E}(\xi_l) < \frac{1}{4} - \frac{1}{2} \cdot \frac{1}{2} < 0.$$

Then

$$\mathbb{E}(S_N) = \frac{N}{2} \quad \text{and} \quad \mathbb{D}^2(S_N) = \frac{N}{4} + 2 \underbrace{\sum_{k=2}^N \sum_{l=1}^{k-1} \mathbf{Cov}(\xi_k, \xi_l)}_{<0} < \frac{N}{4}.$$

Then for any $\delta > 0$ using Chebyshev's inequality

$$\begin{aligned} \mathbb{P}\left(\left|X_N - \frac{1}{2}\right| > \delta\right) &= \mathbb{P}\left(\left|S_N - \frac{N}{2}\right| > \delta N\right) = \mathbb{P}(|S_N - \mathbb{E}(S_N)| > \delta N) \\ &\leq \frac{\mathbb{D}^2(S_N)}{\delta^2 N^2} < \frac{\frac{N}{4}}{\delta^2 N^2} = \frac{1}{4\delta^2} \cdot \frac{1}{N} \rightarrow 0 \quad \text{as } N \rightarrow \infty. \end{aligned}$$

Which exactly means

$$X_N \xrightarrow{\mathbb{P}} \frac{1}{2} \quad \text{as } N \rightarrow \infty.$$

MT.2 (a) Let $\xi_{n,k}^{(1)}$ be i.i.d. with distribution p_1 and $\xi_{n,k}^{(2)}$ be i.i.d. with distribution p_2 . Let Z_n denote the size of the n th generation. Then $Z_0 = 1$ by definition. Let $P_n(x)$ denote the PGF of Z_n . Then clearly

$$P_0(x) = x.$$

Now consider two cases

(i) If n is odd

$$Z_n = \sum_{k=1}^{Z_{n-1}} \xi_{n-1,k}^{(1)},$$

thus

$$P_n(x) = P_{n-1}(G_1(x)).$$

(ii) If n is even

$$Z_n = \sum_{k=1}^{Z_{n-1}} \xi_{n-1,k}^{(2)},$$

thus

$$P_n(x) = P_{n-1}(G_2(x)).$$

Then clearly we have

$$P_n(x) = \begin{cases} \underbrace{(G_2 \circ G_1) \circ \cdots \circ (G_2 \circ G_1)}_k(x) & \text{if } n = 2k \\ G_1 \circ \underbrace{(G_2 \circ G_1) \circ \cdots \circ (G_2 \circ G_1)}_k(x) & \text{if } n = 2k + 1 \end{cases}$$

(b) In this case we know that

$$G_1(x) = \frac{\frac{1}{3}}{1 - \frac{2}{3}s} = \frac{1}{3 - 2s}$$

and

$$G_2(x) = \frac{\frac{3}{4}}{1 - \frac{1}{4}s} = \frac{3}{4 - s}.$$

Then

$$G_2 \circ G_1(x) = \frac{3}{4 - 2\frac{1}{3-2x}} = \frac{9 - 6x}{11 - 8x}.$$

Moreover we know that

$$\mathbb{P}(\text{the amoebae eventually die out}) = \lim_{n \rightarrow \infty} P_n(0).$$

First let us calculate the limit

$$\lim_{n \rightarrow \infty} P_{2n}(0).$$

This is exactly the smallest fixed point of $G_2 \circ G_1(x)$. Solving the equation

$$\frac{9 - 6x}{11 - 8x} = x$$

the solutions are

$$x_1 = 1 \quad \text{and} \quad x_2 = \frac{9}{8}.$$

Thus

$$\lim_{n \rightarrow \infty} P_{2n}(0) = 1.$$

Moreover

$$\lim_{n \rightarrow \infty} P_{2n+1}(0) = \lim_{n \rightarrow \infty} G_1(P_{2n}(0)) = G_1\left(\lim_{n \rightarrow \infty} P_{2n}(0)\right) = G_1(1) = 1.$$

Thus

$$\lim_{n \rightarrow \infty} P_n(0) = 1,$$

which exactly means

$$\mathbb{P}(\text{the amoebae eventually die out}) = 1.$$

MT.3 Since n is not a prime number there exist two positive integers $a, b \geq 2$ such that

$$n = ab.$$

Let us define

$$Y = \left\lfloor \frac{X}{a} \right\rfloor \quad \text{and} \quad Z = X \bmod a.$$

Then clearly

$$Y \in \{0, 1, \dots, b-1\} \quad \text{and} \quad Z \in \{0, 1, \dots, a-1\}$$

plus just by the definition of Y and Z

$$X = Y + Z.$$

Now we need to show that Y and Z are independent. Notice that for $k \in \{0, 1, \dots, b-1\}$

$$\begin{aligned} \mathbb{P}(Y = k) &= \mathbb{P}\left(\left\lfloor \frac{X}{a} \right\rfloor = k\right) = \mathbb{P}(ak \leq X < a(k+1)) \\ &= \sum_{m=ak}^{a(k+1)-1} \mathbb{P}(X = m) = \frac{a(k+1) - 1 - ak + 1}{n} = \frac{a}{n} = \frac{1}{b}. \end{aligned}$$

Moreover for any $l \in \{0, 1, \dots, a-1\}$

$$\mathbb{P}(Z = l) = \mathbb{P}(X \bmod a = l) = \sum_{m=0}^{b-1} \mathbb{P}(X = ma + l) = \frac{b-1+1}{n} = \frac{b}{n} = \frac{1}{a}.$$

Then for any $k \in \{0, 1, \dots, b-1\}$ and $l \in \{0, 1, \dots, a-1\}$

$$\mathbb{P}(Y = k, Z = l) = \mathbb{P}(X = ak + l) = \frac{1}{n} = \frac{1}{a} \cdot \frac{1}{b} = \mathbb{P}(Y = k) \cdot \mathbb{P}(Z = l).$$

Thus Y and Z are independent. In addition we also proved that

$$Y \sim \text{UNI}\{0, 1, \dots, b-1\} \quad \text{and} \quad Z \sim \text{UNI}\{0, 1, \dots, a-1\}.$$